

Page 1 of 13

Contract ID: 22150 Counties: MONMOUTH

Letting Date: September 29, 2022 District(s): C1

Call Order: 150 **Project(s):** NHP-0035(334)

Contract Time: 09/08/23 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) ASPHAL SYSTEM					
Alt Se	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadw		Roadway		Cat Alt	Set:	Cat A	It Member:	
0001	151006M	1.000	16,000.00000	16,000.00				
	MANCE BOND AND IT BOND	DOLL						
0003	153003P	(1)	38,000.00000	38,000.00				
PROGRE	ESS SCHEDULE	LS						
0004	153005M	4.000	8,000.00000	32,000.00				
PROGRE	ESS SCHEDULE UPD	DATE U						
0005	153011M	2,200.000	120.00000	264,000.00				
TRAINE	ES .	HOUR						
0006	154003P	(1)	265,000.00000	265,000.00				
MOBILIZATION LS								
0009	157004M	1.000	38,000.00000	38,000.00				
CONSTR	RUCTION LAYOUT	DOLL						



Page 2 of 13

Contract ID: 22150 Counties: MONMOUTH

Letting Date: September 29, 2022 District(s): C1

Call Order: 150 **Project(s):** NHP-0035(334)

Contract Time: 09/08/23 COMPLETION DATE Min: Max:

Line No			(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set /	Alt Set / Alt Member Quantity and Units		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	: 0001	Roadway		Cat Alt	Set:	Cat A	It Member:	
0013	159003M	150.000	1.00000	150.00				
BREAKAW	'AY BARRICADE	U						
0014	159006M	100.000	1.00000	100.00				
DRUM		U						
0015	159009M	1,000.000	25.00000	25,000.00				
TRAFFIC C	CONE	U						
0016	159012M	1,856.000	21.60000	40,089.60				
CONSTRU	CTION SIGNS	SF						
0017	159015M	2.000	1,500.00000	3,000.00				
CONSTRUCTION IDENTIFICATION U SIGN, 4' X 8'								
0018	159027M	2.000	2,000.00000	4,000.00				
FLASHING	ARROW BOARD, 4'	K 8' U						



Page 3 of 13

Contract ID: 22150 Counties: MONMOUTH

Letting Date: September 29, 2022 District(s): C1

Call Order: 150 **Project(s):** NHP-0035(334)

Contract Time: 09/08/23 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway		Roadway		Cat Alt	Set:	Cat A	It Member:	
0019	159030M	2.000	18,000.00000	36,000.00				
PORTAB SIGN	LE VARIABLE MESSA	AGE U						
0020	159108M	2.000	7,500.00000	15,000.00				
	CONTROL TRUCK VED CRASH CUSHION	VITH U						
0021	159138M	31.000	1,000.00000	31,000.00				
HMA PA	ГСН	Т						
0022	159300M	160,459.000	0.54000	86,647.86				
TRAFFIC	STRIPES, LATEX, 4"	LF						
0023	159302M	9,915.000	0.49000	4,858.35				
TRAFFIC	STRIPES, LATEX, 8"	LF						



Page 4 of 13

Contract ID: 22150 Counties: MONMOUTH

Letting Date: September 29, 2022 District(s): C1

Call Order: 150 **Project(s):** NHP-0035(334)

Contract Time: 09/08/23 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway		Roadway		Cat Alt	: Set:	Cat Alt Member:		
0024	159312M	3,645.000	0.49000	1,786.05				
TRAFFIC	MARKINGS LINES, B"	LF						
0025	159314M	10,881.000	0.54000	5,875.74				
TRAFFIC LATEX, 2	MARKINGS LINES, 24"	LF						
0026	159320M	735.000	2.40000	1,764.00				
TRAFFIC LATEX	MARKINGS SYMBO	LS, SF						
0027	160004M	1.000	100.00000	100.00				
FUEL PRICE ADJUSTMENT DOLL								
0028	160007M	1.000	100.00000	100.00				
ASPHAL	T PRICE ADJUSTME	NT DOLL						



Page 5 of 13

Contract ID: 22150 Counties: MONMOUTH

Letting Date: September 29, 2022 District(s): C1

Call Order: 150 **Project(s):** NHP-0035(334)

Contract Time: 09/08/23 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set	Alt Set / Alt Member Quantity and Units		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	Roadway		Cat Alt	Set:	Cat A	It Member:	
0029	161003P	(1)	38,000.00000	38,000.00				
FINAL CI	_EANUP	LS						
0030	201003P	(1)	40,000.00000	40,000.00				
CLEARIN	IG SITE	LS						
0031	302051P	6.000	1,200.00000	7,200.00				
	GRADED AGGREGATE DURSE, VARIABLE ESS	E CY						
0032	401021M	322.000	250.00000	80,500.00				
HOT MIX REPAIR	ASPHALT PAVEMEN	T SY						
0033	401024M	5,000.000	4.00000	20,000.00				
-	OF CRACKS IN HOT T SURFACE COURSE	MIX LF						



Page 6 of 13

Contract ID: 22150 Counties: MONMOUTH

Letting Date: September 29, 2022 District(s): C1

Call Order: 150 **Project(s):** NHP-0035(334)

Contract Time: 09/08/23 COMPLETION DATE Min: Max:

	/ Item ID scription		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set	Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway		Roadway		Cat Alt	: Set:	Cat Alt Member:		
0034	401030M	27,060.000	3.50000	94,710.00				
TACK COAT GAL		GAL						
0035	401113M	100.000	100.00000	10,000.00				
HMA LON REPAIR	GITUDINAL JOINT	SY						
0036	421007M	97,891.000	4.58000	448,340.78				
MICROPA	VING JOINTS	LF						
0037	421010M	1,912.000	127.27000	243,340.24				
SLURRY S	SEAL AGGREGATE	T, TYPE T						
0038	421011M	57,297.000	11.73000	672,093.81				
SLURRY S	SEAL EMULSION	GAL						



Page 7 of 13

Contract ID: 22150 Counties: MONMOUTH

Letting Date: September 29, 2022 District(s): C1

Call Order: 150 **Project(s):** NHP-0035(334)

Contract Time: 09/08/23 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set /	Alt Member Qu	antity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway		Roadway		Cat Alt	Set:	Cat A	It Member:	
0039	602105M	1.000	5,637.50000	5,637.50				
SET INLET	TYPE B, CASTING	U						
0040	607018P	20.000	900.00000	18,000.00				
9" X 16" CO CURB	ONCRETE VERTICAL	LF						
0041	610003M	167,000.000	0.59000	98,530.00				
TRAFFIC S	STRIPES, 4"	LF						
0042	610007M	5,000.000	1.18000	5,900.00				
TRAFFIC S	STRIPES, 8"	LF						
0043	610012M	805.000	66.00000	53,130.00				
RPM, MON LENS	NO-DIRECTIONAL, WHI	ITE U						



Page 8 of 13

Contract ID: 22150 Counties: MONMOUTH

Letting Date: September 29, 2022 District(s): C1

Call Order: 150 **Project(s):** NHP-0035(334)

Contract Time: 09/08/23 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHAL SYSTEN					
Alt Set	Alt Set / Alt Member Quantity and Units		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001		Roadway		Cat Al	t Set:	Cat A	It Member:	
0044	610014M	1,215.000	3.60000	4,374.00				
TRAFFIC	MARKING LINES, 8"	LF						
0045	610017M	3,627.000	9.60000	34,819.20				
TRAFFIC	MARKING LINES, 24	" LF						
0046	610018M	465.000	66.00000	30,690.00				
RPM, MC AMBER I	ONO-DIRECTIONAL, LENS	U						
0047	610024M	1,270.000	65.00000	82,550.00				
REMOVA	AL OF RPM	U						
0048	610033M	83,957.000	0.87000	73,042.59				
RUMBLE	STRIP	LF						
0049	610036M	167,000.000	0.75000	125,250.00				
REMOVA	AL OF TRAFFIC STRIP	PES LF						



Page 9 of 13

Contract ID: 22150 Counties: MONMOUTH

Letting Date: September 29, 2022 District(s): C1

Call Order: 150 **Project(s):** NHP-0035(334)

Contract Time: 09/08/23 COMPLETION DATE Min: Max:

Contract Description: Rt. 35, Rt. 66 to CR 32 (Industrial Way)

	Contract Description. The co, the cot of the city of the contract way)								
	Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.						
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTIO	N: 0001	Roadway		Cat Al	Set:	Cat A	It Member:		
0050	610039M	8,056.000	6.48000	52,202.88					
REMOVA	AL OF TRAFFIC MAR	KINGS SF							
0051	610060M	500.000	9.48000	4,740.00					
TRAFFIC	MARKINGS SYMBO	OLS SF							

Section Totals: \$3,151,522.60



Page 10 of 13

Contract ID: 22150 Counties: MONMOUTH

Letting Date: September 29, 2022 District(s): C1

Call Order: 150 **Project(s):** NHP-0035(334)

Contract Time: 09/08/23 COMPLETION DATE Min: Max:

Contract Description: Rt. 35, Rt. 66 to CR 32 (Industrial Way)

Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002	Construction E	ngineering	Cat Alt Set:		Cat A	It Member:	
0007 155015M	1.000	45,000.00000	45,000.00				
FIELD OFFICE TYPE E SET I	JP U						
0008 155033M	10.000	7,500.00000	75,000.00				
FIELD OFFICE TYPE E MAINTENANCE	MO						

Section Totals: \$120,000.00



Page 11 of 13

Contract ID: 22150 Counties: MONMOUTH

Letting Date: September 29, 2022 District(s): C1

Call Order: 150 **Project(s):** NHP-0035(334)

Contract Time: 09/08/23 COMPLETION DATE Min: Max:

Contract Description: Rt. 35, Rt. 66 to CR 32 (Industrial Way)

Line No / Item ID Item Description			LT PAVING MS, INC.				
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount

SECTION: 0003 Non Participating Cat Alt Set: Cat Alt Member:

 0002
 152015P
 1.000
 20,000.00000
 20,000.000

 POLLUTION LIABILITY INSURANCE
 DOLL

Section Totals: \$20,000.00



Page 12 of 13

Contract ID: 22150 Counties: MONMOUTH

Letting Date: September 29, 2022 District(s): C1

Call Order: 150 **Project(s):** NHP-0035(334)

Contract Time: 09/08/23 COMPLETION DATE Min: Max:

Contract Description: Rt. 35, Rt. 66 to CR 32 (Industrial Way)

	Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set /	Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0004		Erosion Control		Cat Alt	Set:	Cat A	It Member:	
0010	158009M	1,000.000	49.59000	49,590.00				
HEAVY DU ORANGE	JTY SILT FENCE,	LF						
0011	158015M	25.000	180.00000	4,500.00				
HAYBALE		U						
0012	158072M	2.000	2,500.00000	5,000.00				
OIL ONLY TYPE 1	EMERGENCY SPII	LL KIT, U						

Section Totals: \$59,090.00



Page 13 of 13

Contract ID: 22150 Counties: MONMOUTH

Letting Date: September 29, 2022 District(s): C1

Call Order: 150 **Project(s):** NHP-0035(334)

Contract Time: 09/08/23 COMPLETION DATE Min: Max:

Contract Description: Rt. 35, Rt. 66 to CR 32 (Industrial Way)

Cost Plus Time Totals

Line No / Item ID Item Description		(1) ASPHAL SYSTEN					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0005	General Lands	cape	Cat Alt	Set:	Cat A	It Member:	
0052 805005M	150.000	120.20000	18,030.00				
STABILIZED TURF	SY						
Section Totals:			\$18,030.00				
	Contract Totals		\$3,368,642.60				

() indicates item is bid as Lump Sum



Vendor Ranking Page:

Call Order: 150 Contract ID: 22150 Counties: MONMOUTH

Letting Date: September 29, 2022 10:00 AM District(s): C1

Contract Time: 09/08/23 COMPLETION DATE

Contract Description: Rt. 35, Rt. 66 to CR 32 (Industrial Way)

Project(s): NHP-0035(334)

Rank	Vendor ID/Name	Total Bid	Percent Of Low Bid
1	ASPHALT PAVING SYSTEMS, INC.	\$3,368,642.60	100.00%

THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.